No. A B W = X %8 XHa—K
1 SHTH SN ER) HHAARBREEBERSBELSE 8,800 6 =%
2 | SRR |SNEE BIIKESERSERXBMAAESE 16,000 6 =&
3 | SA2IB|SNEE MEEHESRRABREE 15,000 6 =&
4 | 5A21H|SHEB MBS - BASESRRSBRRSE 3,000 6 =&
5 | 58228 |#NEE) E)IMBRISESRBREE 2,000 6 =&
6 | 5H238|4HNEE)GILIMBIIERASESRBHRESE 5,000 6 =%
7| 5A2TH|SNEE) HASRERFLERERERE 15,000 6 =&
8 | SA2TA|#HNEB) HANRRERNSHRESE 10,000 6 =&
9 | 5A27TR|#NEE) BIIBEEHREBSHSBRESSE 10,000 6 =&
10| 5A30B|HNEE)HARREXRFTHFERBESBRESE 5,000 6 =&
11| 5A308|HMEE)HAR YAV GEREEHREBRESE 10,000 6 =&
12
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X HEEEE 99,800




